# On the Recursive Sequence $x_{n+1}=\frac{x_{n-7}}{1+x_{n-1} x_{n-3} x_{n-5}}$ 

Burak Ogul ${ }^{1}$, Dagistan Simsek ${ }^{2}$, Fahreddin Abdullayev ${ }^{3}$ and Ali Farajzadeh ${ }^{4, *}$<br>${ }^{1}$ Department of Management Information Systems, School of Applied Science, Istanbul Aydin University, Istanbul Turkey<br>e-mail : burakogul@aydin.edu.tr<br>${ }^{2}$ Department of Engineering Basic Sciences, Faculty of Engineering and Natural Sciences, Konya Technical University, Konya, Turkey<br>e-mail : dsimsek@ktun.edu.tr<br>${ }^{3}$ Department of Mathematics, Faculty of Sciences and Letters, Mersin University, Mersin, Turkey e-mail : fabdul@mersin.edu.tr<br>${ }^{4}$ Department of Mathematics, Faculty of Science Razi University, Kermanshah, Iran<br>e-mail : farajzadehali@gmail.com

Abstract In this paper we are going to analyze the following difference equation

$$
x_{n+1}=\frac{x_{n-7}}{1+x_{n-1} x_{n-3} x_{n-5}} \quad n=0,1,2, \ldots
$$

where $x_{-7}, x_{-6}, x_{-5}, x_{-4}, x_{-3}, x_{-2}, x_{-1}, x_{0} \in(0, \infty)$.
MSC: 39A10
Keywords: difference equation; rational difference equations; recursive sequence

Submission date: 22.07.2018 / Acceptance date: 19.11.2021

## 1. Introduction

Difference equations appear naturally as discrete analogs and as numerical solutions of differential and delay differential equations, having applications in biology, ecology, physics.

Difference equations are used in a variety of contexts, such as in economics to model the evolution through time of variables such as gross domestic product, the inflation rate, the exchange rate, etc. They are used in modeling such time series because values of these variables are only measured at discrete intervals. In econometric applications, linear difference equations are modeled with stochastic terms in the form of autoregressive (AR) models and in models such as vector autoregression (VAR) and autoregressive moving average (ARMA) models that combine AR with other features.

Recently, a high attention to studying the periodic nature of nonlinear difference equations has been attracted. For some recent results concerning the periodic nature of scalar nonlinear difference equations, among other problems, see the references [1-16].

[^0]Cinar $[2,3]$ studied the following problems with positive initial values:

$$
\begin{aligned}
x_{n+1} & =\frac{x_{n-1}}{1+a x_{n} x_{n-1}}, \\
x_{n+1} & =\frac{x_{n-1}}{-1+a x_{n} x_{n-1}}, \\
x_{n+1} & =\frac{a x_{n-1}}{1+b x_{n} x_{n-1}},
\end{aligned}
$$

for $n=0,1,2, \ldots$, respectively.
De Vault et. al [16] studied the following problems

$$
x_{n+1}=\frac{A}{x_{n}}+\frac{1}{x_{n-2}}
$$

for $n=0,1,2, \ldots$ and proved it has positive when $A \in(0, \infty)$
Stevic et. al. [15] studied the solvability of the following product-type system of difference equations of the second order

$$
z_{n+1}=\frac{z_{n}^{a}}{w_{n-1}^{b}}, w_{n+1}=\frac{w_{n}^{c}}{z_{n-1}^{d}}, n \in \mathbb{N}_{0}
$$

where $a, b, c, d \in \mathbb{Z}, z_{-1}, z_{0}, w_{-1}, w_{0} \in \mathbb{C}$.
Elsayed in a series of papers ( see [4]-[10]) studied the behavior of the solution of the following difference equation:

$$
x_{n+1}=a x_{n-1}+\frac{b x_{n} x_{n-1}}{c x_{n} d x_{n-2}}, \quad n=0,1, \ldots,
$$

where the initial conditions $x_{-2} x_{-1}, x_{0}$ are arbitrary positive real numbers and $a, b, c, d$ are positive constants.

Simsek et. al. in a series of papers ( see [11-13]) studied the following problems with positive initial values

$$
\begin{gathered}
x_{n+1}=\frac{x_{n-3}}{1+x_{n-1}} \\
x_{n+1}=\frac{x_{n-5}}{1+x_{n-2}} \\
x_{n+1}=\frac{x_{n-5}}{1+x_{n-1} x_{n-3}} \\
x_{n+1}=\frac{x_{n-3}}{1+x_{n} x_{n-1} x_{n-2}}
\end{gathered}
$$

for $n=0,1,2, \ldots$ in $[5,6,7,8]$ respectively.
In this paper we are going to study the following nonlinear difference equation

$$
\begin{equation*}
x_{n+1}=\frac{x_{n-7}}{1+x_{n-1} x_{n-3} x_{n-5}}, \quad n=0,1,2, \ldots, \tag{1.1}
\end{equation*}
$$

where $x_{-7}, x_{-6}, x_{-5}, x_{-4}, x_{-3}, x_{-2}, x_{-1}, x_{0} \in(0, \infty)$.

## 2. Main Results

Theorem 2.1. Consider the difference equation (1.1). Then the following statements are true.
(a) The sequences $\left(x_{8 n-7}\right),\left(x_{8 n-6}\right),\left(x_{8 n-5}\right),\left(x_{8 n-4}\right),\left(x_{8 n-3}\right),\left(x_{8 n-2}\right),\left(x_{8 n-1}\right)$, $\left(x_{8 n}\right)$ are decreasing and there exist $a_{1}, a_{2}, a_{3}, a_{4}, a_{5}, a_{6}, a_{7}, a_{8} \geq 0$ such that

$$
\begin{gathered}
\lim _{n \rightarrow \infty} x_{8 n-7}=a_{1}, \lim _{n \rightarrow \infty} x_{8 n-6}=a_{2}, \lim _{n \rightarrow \infty} x_{8 n-5}=a_{3}, \lim _{n \rightarrow \infty} x_{8 n-4}=a_{4}, \\
\lim _{n \rightarrow \infty} x_{8 n-3}=a_{5}, \lim _{n \rightarrow \infty} x_{8 n-2}=a_{6}, \lim _{n \rightarrow \infty} x_{8 n-1}=a_{7}, \lim _{n \rightarrow \infty} x_{8 n}=a_{8} .
\end{gathered}
$$

(b) $\left(a_{1}, a_{2}, a_{3}, a_{4}, a_{5}, a_{6}, a_{7}, a_{8}, \ldots\right)$ is a solution of equation (1.1) having period eight.
(c) $a_{1} \cdot a_{3} \cdot a_{5} \cdot a_{7}=0, a_{2} \cdot a_{4} \cdot a_{6} \cdot a_{8}=0$.
(d) $n_{0} \in \mathbb{N}$ such that $x_{n+1} \leq x_{n-5}$ for all $n \geq n_{0}$, then

$$
\lim _{n \rightarrow \infty} x_{n}=0
$$

(e) The following formulas

$$
\begin{gathered}
x_{8 n+1}=x_{-7}\left(1-\frac{x_{-1} x_{-3} x_{-5}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+2}=x_{-6}\left(1-\frac{x_{0} x_{-2} x_{-4}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right), \\
x_{8 n+3}=x_{-5}\left(1-\frac{x_{-1} x_{-3} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+4}=x_{-4}\left(1-\frac{x_{0} x_{-2} x_{-6}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right), \\
x_{8 n+5}=x_{-3}\left(1-\frac{x_{-1} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+6}=x_{-2}\left(1-\frac{x_{0} x_{-4} x_{-6}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right), \\
x_{8 n+7}=x_{-1}\left(1-\frac{x_{-3} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+8}=x_{0}\left(1-\frac{x_{-2} x_{-4} x_{-6}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right),
\end{gathered}
$$

hold.
(f) If $x_{8 n+1} \rightarrow a_{1} \neq 0, x_{8 n+3} \rightarrow a_{3} \neq 0, x_{8 n+5} \rightarrow a_{5} \neq 0$, then $x_{8 n+7} \rightarrow 0$ as $n \rightarrow \infty$. If $x_{8 n+2} \rightarrow a_{2} \neq 0, x_{8 n+4} \rightarrow a_{4} \neq 0, x_{8 n+6} \rightarrow a_{6} \neq 0$, then $x_{8 n+8} \rightarrow 0$ as $n \rightarrow \infty$.

Proof. (a) Firstly, we consider the equation (1.1). From this equation, we obtain

$$
x_{n+1}\left(1+x_{n-1} x_{n-3} x_{n-5}\right)=x_{n-7} .
$$

If $x_{n-1} x_{n-3} x_{n-5} \in(0, \infty)$, then $\left(1+x_{n-1} x_{n-3} x_{n-5}\right) \in(1, \infty)$. Since $x_{n+1}<$ $x_{n-7}, n \in \mathbb{N}$, we obtain that there exist

$$
\begin{gathered}
\lim _{n \rightarrow \infty} x_{8 n-7}=a_{1}, \lim _{n \rightarrow \infty} x_{8 n-6}=a_{2}, \lim _{n \rightarrow \infty} x_{8 n-5}=a_{3}, \lim _{n \rightarrow \infty} x_{8 n-4}=a_{4}, \\
\lim _{n \rightarrow \infty} x_{8 n-3}=a_{5}, \lim _{n \rightarrow \infty} x_{8 n-2}=a_{6}, \lim _{n \rightarrow \infty} x_{8 n-1}=a_{7}, \lim _{n \rightarrow \infty} x_{8 n}=a_{8} .
\end{gathered}
$$

(b) $\left(a_{1}, a_{2}, a_{3}, a_{4}, a_{5}, a_{6}, a_{7}, a_{8}, \ldots\right)$ is a solution of equation (1.1) having period eight.
(c) In view of the equation (1.1),

$$
x_{8 n+1}=\frac{x_{8 n-7}}{1+x_{8 n-1} x_{8 n-3} x_{8 n-5}} .
$$

If the limits are put on both sides of the above equality

$$
\lim _{n \rightarrow \infty} x_{8 n+1}=\frac{x_{8 n-7}}{1+x_{8 n-1} x_{8 n-3} x_{8 n-5}}
$$

is obtained. Then,

$$
a_{1}=\frac{a_{1}}{1+a_{7} a_{5} a_{3}} \Rightarrow a_{1}+a_{1} \cdot a_{3} a_{5} a_{7}=a_{1} \Rightarrow a_{1} \cdot a_{3} a_{5} a_{7}=0 .
$$

Also, we obtain

$$
x_{8 n+2}=\frac{x_{8 n-6}}{1+x_{8 n} x_{8 n-2} x_{8 n-4}} .
$$

If the limits are put on both sides of the above equality

$$
\lim _{n \rightarrow \infty} x_{8 n+2}=\frac{x_{8 n-6}}{1+x_{8 n} x_{8 n-2} x_{8 n-4}}
$$

is obtained. Then,

$$
a_{1}=\frac{a_{2}}{1+a_{6} a_{4} a_{2}} \Rightarrow a_{2}+a_{2} \cdot a_{4} a_{6} a_{8}=a_{2} \Rightarrow a_{2} \cdot a_{4} a_{6} a_{8}=0 .
$$

(d) $n_{0} \in \mathbb{N}$ such that $x_{n+1} \leq x_{n-5}$ for all $n \geq n_{0}$, is existed; then, $a_{1} \leq a_{3} \leq a_{5} \leq a_{7} \leq a_{1}$ since $a_{1} \cdot a_{3} \cdot a_{5} \cdot a_{7}=0$, $a_{2} \leq a_{4} \leq a_{6} \leq a_{8} \leq a_{2}$ since $a_{2} \cdot a_{4} \cdot a_{6} \cdot a_{8}=0$, the results are obtained above.
(e) Subracting $x_{n-7}$ from the left and right-hand sides in equation (1.1)

$$
x_{n+1}-x_{n-7}=\frac{1}{1+x_{n-1} x_{n-3} x_{n-5}}\left(x_{n-1}-x_{n-9}\right)
$$

is obtained and the following formula is produced below, for $n \geq 2$,

$$
\begin{align*}
& x_{2 n-3}-x_{2 n-11}=\left(x_{1}-x_{-7}\right) \prod_{i=1}^{n-2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}  \tag{2.1}\\
& x_{2 n-2}-x_{2 n-10}=\left(x_{2}-x_{-6}\right) \prod_{i=1}^{n-2} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}
\end{align*}
$$

holds. Replacing $n$ by $4 j$ in (2.1) and summing from $j=0$ to $j=n$, we obtain:

$$
x_{8 n+1}-x_{-7}=\left(x_{1}-x_{-7}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}
$$

$$
x_{8 n+2}-x_{-6}=\left(x_{2}-x_{-6}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}
$$

Also, replacing $n$ by $4 j+1$ in (2.1) and summing from $j=0$ to $j=n$, we obtain:

$$
\begin{gathered}
x_{8 n+3}-x_{-5}=\left(x_{3}-x_{-5}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}, \\
x_{8 n+4}-x_{-4}=\left(x_{4}-x_{-4}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}},
\end{gathered}
$$

Also, replacing $n$ by $4 j+2$ in (2.1) and summing from $j=0$ to $j=n$, we obtain:

$$
\begin{gathered}
x_{8 n+5}-x_{-3}=\left(x_{5}-x_{-3}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}, \\
x_{8 n+6}-x_{-2}=\left(x_{6}-x_{-2}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}},
\end{gathered}
$$

Also, replacing $n$ by $4 j+3$ in (2.1) and summing from $j=0$ to $j=n$, we obtain:

$$
\begin{aligned}
x_{8 n+7}-x_{-1} & =\left(x_{7}-x_{-1}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}, \\
x_{8 n+8}-x_{0} & =\left(x_{8}-x_{0}\right) \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}},
\end{aligned}
$$

Now, we obtained of the above formulas:

$$
\begin{gathered}
x_{8 n+1}=x_{-7}\left(1-\frac{x_{-1} x_{-3} x_{-5}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+2}=x_{-6}\left(1-\frac{x_{0} x_{-2} x_{-4}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right), \\
x_{8 n+3}=x_{-5}\left(1-\frac{x_{-1} x_{-3} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+4}=x_{-4}\left(1-\frac{x_{0} x_{-2} x_{-6}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right), \\
x_{8 n+5}=x_{-3}\left(1-\frac{x_{-1} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
x_{8 n+6}=x_{-2}\left(1-\frac{x_{0} x_{-4} x_{-6}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right),
\end{gathered}
$$

$$
\begin{gathered}
x_{8 n+7}=x_{-1}\left(1-\frac{x_{-3} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right) \\
x_{8 n+8}=x_{0}\left(1-\frac{x_{-2} x_{-4} x_{-6}}{1+x_{0} x_{-2} x_{-4}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-4} x_{2 i-2} x_{2 i}}\right)
\end{gathered}
$$

(f) Suppose that $a_{1}=a_{3}=a_{5}=a_{7}=0$. By (e), we have

$$
\begin{gather*}
\lim _{n \rightarrow \infty} x_{8 n+1}=\lim _{n \rightarrow \infty} x_{-7}\left(1-\frac{x_{-1} x_{-3} x_{-5}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
a_{1}=x_{-7}\left(1-\frac{x_{-1} x_{-3} x_{-5}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{\infty} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
a_{1}=0 \Rightarrow \frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-5}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} . \tag{2.2}
\end{gather*}
$$

## Similarly

$$
\begin{gather*}
\lim _{n \rightarrow \infty} x_{8 n+3}=\lim _{n \rightarrow \infty} x_{-5}\left(1-\frac{x_{-1} x_{-3} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
a_{3}=x_{-5}\left(1-\frac{x_{-1} x_{-3} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{\infty} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right) \\
a_{3}=0 \Rightarrow \frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} . \tag{2.3}
\end{gather*}
$$

From the equation (2.2) and (2.3);

$$
\begin{gathered}
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-5}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}> \\
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} \\
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-5}}>\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-7}}, \\
\frac{1}{x_{-1} x_{-3} x_{-5}}>\frac{1}{x_{-1} x_{-3} x_{-7}}, \\
x_{-1} x_{-3} x_{-7}>x_{-1} x_{-3} x_{-5} \Rightarrow x_{-7}>x_{-5} . \\
\lim _{n \rightarrow \infty} x_{8 n+5}=\lim _{n \rightarrow \infty} x_{-3}\left(1-\frac{x_{-1} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right)
\end{gathered}
$$

$$
\begin{align*}
a_{5} & =x_{-3}\left(1-\frac{x_{-1} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{\infty} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
a_{5}= & 0 \Rightarrow \frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-5} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} . \tag{2.4}
\end{align*}
$$

From the equation (2.3) and (2.4);

$$
\begin{gather*}
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+1} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}> \\
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-5} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} \\
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-3} x_{-7}}>\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-5} x_{-7}} \\
\frac{1}{x_{-1} x_{-3} x_{-7}}>\frac{1}{x_{-1} x_{-5} x_{-7}} \\
x_{-1} x_{-5} x_{-7}>x_{-1} x_{-3} x_{-7} \Rightarrow x_{-5}>x_{-3} . \\
\lim _{n \rightarrow \infty} x_{8 n+7}=\lim _{n \rightarrow \infty} x_{-1}\left(1-\frac{x_{-3} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{n} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
a_{7}=x_{-1}\left(1-\frac{x_{-3} x_{-5} x_{-7}}{1+x_{-1} x_{-3} x_{-5}} \sum_{j=0}^{\infty} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}\right), \\
a_{7}=0 \Rightarrow \frac{1+x_{-1} x_{-3} x_{-5}}{x_{-3} x_{-5} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} . \tag{2.5}
\end{gather*}
$$

From the equation (2.4) and (2.5);

$$
\begin{gathered}
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-5} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+2} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}}> \\
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-3} x_{-5} x_{-7}}=\sum_{j=0}^{\infty} \prod_{i=1}^{4 j+3} \frac{1}{1+x_{2 i-5} x_{2 i-3} x_{2 i-1}} \\
\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-1} x_{-5} x_{-7}}>\frac{1+x_{-1} x_{-3} x_{-5}}{x_{-3} x_{-5} x_{-7}} \\
\frac{1}{x_{-1} x_{-5} x_{-7}}>\frac{1}{x_{-3} x_{-5} x_{-7}} \\
x_{-3} x_{-5} x_{-7}>x_{-1} x_{-5} x_{-7} \Rightarrow x_{-3}>x_{-1} .
\end{gathered}
$$

We obtain $x_{-7}>x_{-5}>x_{-3}>x_{-1}$. A contradiction supposing that $a_{1}=$ $a_{3}=a_{5}=a_{7}=0$ is produced. Similarly, for $a_{2}=a_{4}=a_{6}=a_{8}=0$ we have
$x_{-6}>x_{-4}>x_{-2}>x_{0}$. A contradiction completing the proof of theorem is found.

## 3. Numerical Examples

Example 3.1. Consider the following equation $x_{n+1}=\frac{x_{n-7}}{1+x_{n-1} \cdot x_{n-3} \cdot x_{n-5}}$. If the initial conditions are selected follows:
$x_{-7}=0.9, x_{-6}=0.8, x_{-5}=0.7, x_{-4}=0.6, x_{-3}=0.5, x_{-2}=0.4, x_{-1}=0.3, x_{0}=0.2$.
The graph of the solution is given below.


Figure 1. $x_{n}$ graph of the solution.

## References

[1] A.M. Amleh, E.A. Grove, G. Ladas and D.A. Georgiou, On the recursive sequence $y_{n+1}=\alpha+\frac{y_{n-1}}{y_{n}}$, J. Math. Anal. App. 233 (1999) 790-798.
[2] C. Cinar, On the positive solutions of the difference equation $x_{n+1}=\frac{x_{n-1}}{-1+\alpha x_{n} x_{n-1}}$, J. of App. Math. Comp., 158 (3) (2004) 793-797.
[3] C. Cinar, T. Mansour, I. Yalcinkaya, On the difference equation of higher order, Utilitas Mathematica 92 (2013) 161-166.
[4] E.M. Elsayed, On the solution of some difference equation, Europan Journal of Pure and Applied Mathematics 4 (3) (2011) 287-303.
[5] E.M. Elsayed, On the Dynamics of a higher order rational recursive sequence, Communications in Mathematical Analysis 12 (1) (2012) 117-133.
[6] E.M. Elsayed, Solution of rational difference system of order two, Mathematical and Computer Modelling 5 (2012) 378-384.
[7] E.M. Elsayed, Behavior and expression of the solutions of some rational difference equations, Journal of Computational Analysis Applications 15 (1) (2013) 73-81.
[8] E.M. Elsayed, Solution of rational difference system of order two, Journal of Computational Analysis Applications 33 (3) (2014) 751-765.
[9] E.M. Elsayed, B. Iricanin, S. Stevic, On the max-type equation $x_{n+1}=$ $\max \left\{\frac{A_{n}}{x_{n}}, x_{n-1}\right\}$, Journal of Ars Combinatoria 95 (2010) 187-192.
[10] E.M. Elsayed, Solution and attractivity for a rational recursive sequence, Discrete Dynamics in Nature and Society 2011 (2011) 1-17.
[11] D. Simsek, C. Cinar, I. Yalcinkaya, On the recursive sequence $x_{n+1}=\frac{x_{n-3}}{1+x_{n-1}}$, Int J. Contemp. 9 (12) (2006) 475-480.
[12] D. Simsek, C. Cinar, I. Yalcinkaya, On the recursive sequence $x_{n+1}=\frac{x_{n-5}}{1+x_{n-2}}$, Int J. Pure Appl. Math. 27 (2006) 501-507.
[13] D. Simsek, C. Cinar, I. Yalcinkaya, On the recursive sequence $x_{n+1}=\frac{x_{n-5}}{1+x_{n-1} x_{n-3}}$, Int J. Pure Appl. Math. 28 (2006) 117-124.
[14] D. Simsek, B. Ogul, F. Abdullayev, Solutions of the rational difference equations $x_{n+1}=\frac{x_{n-11}}{1+x_{n-2} x_{n-5} x_{n-8}}$, AIP Conference Proceedings 1880 (1) (2017) 1-8.
[15] S. Stevic, B. Iricanin, Z. Smarda, On a product-type system of difference equations of second order solvable in closed form, Journal of Inequalities and Applications 2015 (1) (2012) 327-334.
[16] R. De Vault, G. Ladas, S. W. Schultz, On the recursive sequence $x_{n+1}=\frac{A}{x_{n}}+$ $\frac{1}{x_{n-2}} ;$ Proc.Amer. Math. Soc. 126 (11) (1998) 3257-61.


[^0]:    *Corresponding author.

